
Q1) Attempt any 5 carry 2 marks each. [10]

a) Define Society.

b) Explain meaning of FDI.

c) What do we mean by Sustainable Development?

d) Define TNC.

e) Explain Social Justice.

f) Write full form of BOOT ______ &

    BOT ________.

g) Write any 2 examples of economic roles of Government in India.

h) Price mechanism is not an important concept in Universal access and
efficiency. (True / False)

Q2) Attempt any 02 carry 5 marks each. [10]

a) What are the roles of Ethical behaviour in Business?

b) Define the Rationale for public, private partnership in recent changes.

c) Explain the meaning of Rural-Urban Dynamics.
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Q3) a) "Government plays an important role in development of business in every
Economy". Explain the statement with suitable example. [10]

OR

b) "Liberalization of Business is an important pre-condition for
Globalization". Explain why?

Q4) a) Explain the influence of Demography & Gender issues on everchanging.
Global business environment with suitable examples. [10]

OR

b) What are the various features & characteristics of Economic Growth in
India?

Q5) a) Illustrate roles of Industrial Relations in Indian context. [10]

OR

b) What are the various challenges in changing workplace?
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